
Comparison of two ratios

Equivalent Ratio

a and b should
be of same kind

Simplest form/lowest term

Convert ratio into fraction

eg : > Compare numerator when
Denominator same

eg : < When Numerator same
Compare denominator
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eg : < find L.C. M. of denominators
L.C.M. of (3,5)=15
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6 : 15 > 5 : 15Þ
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1 : 2 = 2 : 4 = 3 : 6
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2 = 1×2

2×2= 1×3
2×3

To compare two quantities,
the units must be the same
eg : ratio of 3 km to 3m
3km : 3m = 3000 m : 3m
=1000 : 1

eg : If A : B = 2 : 3 and B : C = 5 : 4

then A : C = A
B ×

B
C = 2

3 ×
5
4 = 5
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A : C = 5 : 6

eg : divide Rs. 5000 in Ratio 3 : 5

Rs. 5000 × = Rs. 5000 × = Rs. 1875

Rs. 5000 × = Rs. 5000 × = Rs. 3125
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:eg !

age of A = 7x
age of B = 5x

If a : b is in simplest form Þ H.C.F. (a , b)=1

eg :

H.C.F of 2 and 3 is 1

H.C.F. of 18 and 27 is 9
18
27

=18 ÷ 9
27 ÷ 9

2
3=

a : b = anticedent
b consequent
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eg :
Let 3 A = 2B = 5C = K (K 0)

3 A = K ; 2 B = K ; 5C = K

If 3 A = 2B = 5C the find A : B : C

\

A = ; B = ; C=K
3

K
2

K
5

L.C.M. (3,2,5) = 30

A = ; B = ; C =

A : B : C = 10 : 15 : 6\

10 × K
10 × 3

15 × K
15 × 2

6 × K
6 × 5
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